Bl AR SRR AV B

e | e ik Kl O I ) I
1 81506500089 PR TRl 62204-2RS A 8. 28 HRB
2 81506200662 B & NART25 A 63. 32 NSK
3 81506000034 M7k 60207 A 53. 58 HRB
4 81506500128 Gl HEVR KTl 7 2007108 A 13. 44 HRB
5 81506500134 M7k 7608E 14 23.38 HRB
6 80806200216 7R 69187 A 132. 48 NSK
7 81506000200 7R 30206 A 9.74 HRB
8 81506000220 M7k 6003 A 7.79 NSK
9 81506000607 Bk 51114 A 15. 59 HRB
10 81506000429 M7k 6206R7 A 7.31 HRB
11 81506000054 B & 6309-IRZ A 48.71 NSK
12 81506000219 Sk 6000 A 1.85 HRB
13 81506000807 M7k F208 A 29. 22 LK
14 81506000244 B & 62097 A 22. 41 NSK
15 81506000616 M7k 234411BM P4 (2268111) A 607. 86 NSK
16 81506000124 B & 6008RZ A 19. 48 NSK
17 81506500115 Sk 1205 A 18. 51 LK
18 81506500136 M7k 120BA10 XTY A 1110. 52 NSK
19 81506000201 B & 30210 A 18. 51 HRB
20 80606500081 M7k 7207E A 12. 66 HRB
21 81506000609 7R 6313 A 116. 90 NSK
22 81506000491 M7k 32208 A 17.05 HRB
23 80606500113 M7k 60027 A 5. 84 NSK
24 81506000218 7R 5906 A 29. 22 NSK
25 81506000175 INAfli & LR50/6NPPU = 53. 58 KO
26 81506000038 7R 62007 A 1.95 HRB
27 81506000011 M7k 30207 A 12. 66 HRB
28 81506000015 M7k 3182114 A 472. 46 NSK
29 81506000016 7R 3182118 A 681. 90 NSK
30 81506000248 M7k 63087 A 34. 09 NSK
31 81506000009 7R 2268118 A 1168. 97 NSK
32 81506000064 M7k NART20 £ 48.71 KO
33 81506000648 M7k 6215E A 97. 41 NSK
34 81506000649 Sk 51217 A 116. 90 NSK
35 81506102144 B (NSK) NATA5906/NATB5906 A 116. 90 NSK




36 81506000564 M7k INA ZKLF 3080. 2RS PE A 545. 52 NSK
37 81506000565 LR 6202-27 A 6. 82 NSK
38 81506000356 M7k 62052RZ A 11.69 NSK
39 81506102181 B & NURT20R A 58. 45 NSK
40 81506500096 M7k 39250/39422 ?63. 5mm AN 1168. 97 el
41 81506000281 M7k NURT15R £ 53. 58 NSK
42 81506000531 B & 30TAC62BSUC10PNTB A 141. 25 NSK
43 80906901910 M7k 61824-2RS A 73. 06 NSK
44 80606500007 & (A1-33) 30210 £ 19.97 HRB
45 80606500075 Hi& (H3-9-1) 6201-2RS = 1.95 HRB
46 80606500014 7k (H4-26) 6204-2RS = 2.92 HRB
47 80606500123 B (D1-4-4) 6304-2RS = 4. 68 HRB
48 80606500369 BiA& (H4-17-1) 7513 (65%120%31) A 36. 04 HRB
49 80606900264 Hl& (H3-35) 6214-2RZ % 22. 41 HRB
50 80604040325 AR 20TAB0O41GMP4 A 107. 16 NSK
51 80606500032 ik (H4-13) 1306 = 16. 56 HRB
52 80606500269 7k (A1-42) 6205-2RZ = 4. 87 HRB
53 80606900313 B CHF4) 32206 = 8. 77 HRB
54 80606500136 BhA& (D1-4-1) 6311-2RS P5 A 84. 75 NSK
55 80606500156 B (L4-4-2) 32208H 7508 = 12. 66 HRB
56 80604002826 Hh7k (E2-30) 32306 (7606E) = 15. 59 HRB
57 80606500238 W& (C2-4-1) 51218 P4 NSK = 180. 22 NSK
58 80606500187 4h7% (C2-4-5) 8107(51107) e 5.84 HRB
59 80606500129 7R 6308E = 37.02 NSK
60 80606500147 B (HH3) 51211 = 17. 53 HRB
61 80606500008 WA (FE4) 6006 = 5. 36 HRB
62 80606500016 B (D2-13-7) 51120-P5 = 107. 16 NSK
63 80606500003 q%?mﬁ;_(ffﬁ 51312-P5 = 112.03 NSK
64 80606500222 B (K3-3-3) 6206-2R7 = 6. 82 HRB
65 80606500390 M7k 40TABO7 U/GM P4 A 146. 12 NSK
66 80606500324 W& (A3-1-3) 62204-RS A 9.74 NSK
67 81806100116 Ak NJ2317 EM/C3 (NSK) A 555. 26 NSK
68 81806203381 KATRl& GAZ 200SA (\iiJd: SKF) x 77.93 SKF
69 81806100086 i Al 1212 A 53. 58 LK
70 81806201722 A A FC204 fhj: FK = 13. 64 FK
71 81806202149 ik 6311-27 (M FL¥) A 37.99 HRB
72 81806100145 7 Sl 7 UCP203 A 14. 61 LK
73 81806201684 R & 6000RS A 1.75 HRB




74 81806201775 [ AR Al 7k NJ2316ECM/C4 7ZWZ A 194. 83 YAVA
75 81806100181 B & 6311/C3 (NSK) A 77.93 NSK
76 81806201490 M7k 6309RS/ZW7 A 22. 41 YAVA
77 81806100236 Bk 6208-2RS/ fhh ZWZ = 10. 72 YA Y/
78 81806200003 M7k NJ2315C4 /NSK A 336. 08 NSK
79 81806201858 A A F308 = 46. 76 LK
80 81806202129 7R 6304RS A 4. 87 HRB
81 81890100155 ik 6206RS fhl: ZWZ A 5.84 AW/
82 81806200134 i a7 P209 A 29. 22 LK
83 81806903368 M7k 620427 (it j: NSK) A 7.79 NSK
84 81806200152 ik 6310RS fhh: ZWZ A 23. 38 AW/
85 81806202015 7R 6200 A 1.95 HRB
86 81806201721 i 6210-2RS fhkil: ZWZ A 14. 61 AW/
87 81806200460 7R 620877 f: 10. 72 YAV
88 81706300304 M7k NU209 A 27.28 T™MB
89 81506000447 M7k P206 A 16. 56 HRB
90 81706300303 7R NU207 A 23. 38 TMB
91 81706100884 M7k P205 A 12. 66 HRB
92 81506000070 7R 51210 A 11. 69 HRB
93 81707000179 M7k 7307 A 21.43 HRB
94 81506000012 B & 30208 A 15. 59 HRB
95 81506000281 B & NURT15R = 68.19 | M5 I W%
96 81506000282 M7k NURT25 £ 107. 16 NSK
97 81506000319 7R NURT30RQ = 136. 38 NSK
98 81706500027 M7k 7204 (SKF 14 29. 22 SKF
99 81706500146 7R SKF16021 A 146. 12 SKF
100 81706500147 Sk NSK7209C P4 A 146. 12 NSK
101 81790300228 M7k 7206AC A 19. 48 HRB
102 81706300128 bty v 330124 (23453-02071) 2 29. 22 HRB
103 81506000057 M7k 7015C A 43.84 HRB
104 80606500153 Ak 32208 = 14. 61 HRB
105 80606500367 7R 32032/PSYA4 A 340.95 | K#R4
106 80606500366 M7k 32032x2A-1/P AN 340. 95 KiER 4
107 81706100968 Ak 6306-2R7 A 19. 48 NSK
108 81706900669 M7k 6307 2R7 A 21.43 NSK
109 81790300243 7R 6311RS (k) A 82. 80 NSK
110 80906900820 Sk 61906 A 9. 65 HRB
111 81806201703 M7k 608 A 1.95 HRB




112 81806201941 R & 6001RS A 1.73 HRB
113 81806201856 SRV 626RS A 1.45 HRB
114 80606500078 HE A (M2-7) 6202 (NSK) £ 6. 82 NSK
115 80606500080 7R 6203-2RS £ 3.90 HRB
116 80606500097 Hhi7Kk (M2-10) 60037 5 2.92 HRB
117 80606500173 M7k 7206 (46206) £ 14. 61 HRB
118 80606500273 i JRE i 7k (M4-16) P314 = 214. 31 LK
119 80606500318 i RS K (M4-8) P208 = 27.28 LK
120 80606500330 HhA& (HA-17) 68097 = 9.74 HRB
121 80606500374 M7k 6506-2RS A 14. 61 HRB
122 81506000046 M7k 6209 A 17.53 HRB
123 81506000052 Sk 6307 A 17. 53 HRB
124 81506000591 M7k INA NUTR25-A GERMANY A 87. 67 NSK
125 81506000860 Ak NN3022KR P5 A T74. 44 NSK
126 81506000861 M7k NN3024KR P5 A 1061. 81 NSK
127 81506500014 M7k T207 A 25.33 LK
128 80606500018 BiA& (H4-21-1) 6200~ 2RS = 1.95 HRB
129 80604002933 7k (H4-18) 6204RZ A 24.35 SKF
130 80606500011 W& (L4-3-2) 6310-27 = 21.43 HRB
131 80606500376 A& (F2-6-1) 7012CDB/GL P4 A 399. 40 NSK
132 80606500360 & (H4-29-2) 51220 P4 NSK = 253. 28 NSK
133 81506000221 Sk 6003U A 7.79 NSK
134 81706101240 B (NSK) 60067 A 14. 61 NSK
135 81506000040 Ak 6202 A 6. 82 NSK
136 81506000240 M7k 6204R7 A 9.74 NSK
137 81506000243 Ak 62087 A 24. 35 NSK
138 81506000245 Sk 6210 A 33.12 NSK
139 81506000050 M7k 6305R7 A 19. 48 NSK
140 81506000053 Ak 6308 A 29. 22 NSK
141 81506000063 M7k NART15R £ 38.97 NSK
142 81706202050 7R BSB3572-SU (FAG) A 180. 22 FAG
143 81806100048 Sk NU-NJ2326EM/C3 = 974. 14 NSK
144 81806100082 M7k 6317RZ A 116.90 Wz
145 81806202242 B & 2213 A 43. 84 7
146 81806202980 M7k 22322cc/w33 A 526. 03 Wz
147 81890100156 Ak 6204RS A 2.92 HRB
148 81706500153 Bk (Fh 8 NIN 4T 32008X A 26. 30 NTN
149 81706500241 ik (R NSK 61909VV A 58. 45 NSK




150 81706500243 ik (R NSK 6204VV A 9.74 NSK
151 81706500244 Tk IKO RNA 49/52 A 40. 91 NSK
152 81706500230 ik (R NSK 6212 A 38.97 NSK
153 81706300321 B & NU208 A 23.38 NTN
154 81706108027 ik (R NIN 72071DB/GLP6 A 107. 16 NTN
155 81706201988 | 8-1-32) #iizk (NSK) 6000RZ AN 5. 84 NSK
156 81706500226 Bk (Fh 8 NSK 30TAC62B DFFC10PN7A A 144. 17 NSK
157 81790300242 Mk (WL FAG 6304A-RSR A 12. 66 NSK
158 81706108214 | #fi7k (4 NSK) KH3512 (J5i: 3512 A 9.74 HRB
159 81706100643 ik (R NSK 60017 (Jii: 6001 27 A 1.95 HRB
160 81790300331 8-2-29) Hhk 6406 RZ A 14. 61 HRB
161 80606500046 ik (M1-21) 6005-2RS = 7.00 HRB
162 81007700376 (B35 2= B 2l Ak LMF20UU Pcs 20. 00 HRB
163 81506102775 A& (NSK) 630477 A 14. 00 NSK
164 81506102773 HhK (NSK) 6003ZZ A 8.00 NSK
165 81506102774 Hh& (NSK) 620277 A 8.00 NSK
166 81706500007 8-3-36) HhiKk 6304R7Z A 4. 80 HRB
167 81806100051 i 32006X (JS) A 12. 00 HRB
168 81506000013 Ak 30211 A 26. 00 HRB
169 80606500398 W@m??@ ok P216 = 110. 00 LK
170 81706500186 Ak 51132 = 150. 00 7wz
171 81706500187 Bk 32016 = 60. 00 HRB
172 81706500188 M7k 6217-27 £ 50. 00 Wz
173 81506000013 Ak 30211 A 26. 00 HRB
174 60900004003 il 198908 198908 as 18. 00 JERH
175 81506102605 HhA& (NSK) 51307 A 37.00 NSK
176 81506102604 A& (NSK) 51210 A 38. 50 NSK
177 81506000013 M7k 30211 A 26. 00 HRB
178 80606500395 & 32918X A 85. 00 HRB
179 81506102421 Hhk (NSK) 7015C A 198. 00 NSK




